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a. The operator shall provide to the Local Authorityseatement for each site
indicating its location, the type of mast, the Ieigf the antenna and the
frequency & modulation characteristics. Applicagoshall be accompanied by
information relating to proper access to the baagos including driveways on
property & right of ways.

b. Site area of the base station shall be a minimur2&f square metres for self
support towers. The foremost part of each mastitosi®ll be a minimum
distance of 5 metres from the physical barrier adothhe mast.

c. Operators to consider the use of materials, col&udesign that would minimise
obstrusiveness. In urban areas, preference shdibrb®mwers to be located on
existing buildings.

d. Maximum height of self support towers/masts in arlbaeas shall not exceed 45
metres.

e. Any change to an existing base station which irggsats height and/or base,
shall be subject to the normal planning proceskiagere a new development.
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Security & Safety

f. Readily identifiable signage, informing the puldis to who are the operators of
the site & their emergency numbers shall be poateal conspicuous position at
the site.

g. All towers over 30 metres shall be painted & trdates stipulated by Civil
Aviation Authority (CAA).

h. All applications proposed to be located within ak® radius of airports,
aerodromes, similar facilities & flight paths shdle referred to CAA for
consultation before determination.

Mast Sharing
i.  Where practicable, the planning authority shalluregjthat the operator/applicant
demonstrate that all reasonable steps have been;tak
I. To investigate mast sharing before seeking to er@stones
ii. To pursue the possibility of cooperating with amstbperator to erect new
mast for joint usage.

j. Planning authorities shall be required to maintairegister of all applications for
telecommunication masts/tower site. This shall [aelenavailable to operators to
allow them to consider the possibilities of mastarghg when planning the
development of telecommunication networks.

The planning authority shall ensure that apparatus longer required for

telecommunication purposes are removed as socaasmably practicable from the land
or building on which it is located and the landtoesd to its previous condition.
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